C%ENNTERTJL APPLICATION AND SWITCH VER.3
CO. LTD. ORDERING GUIDE

1) APPLICATION
DOINDOOR DOUTDOOR  OMARINE ENVIRONMENT ~ 0OMOBILE EQUIPMENT 0 OVERHEAD CRANE/HOISTING 0 CRANE CHAIR

O PORTABLE EQUIPMENT 0O FOOT PEDAL 0 OTHER
2) CONTROLLER SIZE & DURABILITY
O MINIATURE: V10 H100 H7 V14 V20 S14 O MEDIUM: V11 V8 D8
O SMALL: V5 VV5 S2 S21 S22 S23 S24 N6 O LARGE: V3 V6 VV6 D64 DD64 K2
3) CONTROLLER FUNCTIONS
O SINGLE AXIS (PICK 1 OF 3 ITEMS BELLOW) O DUAL AXIS O MULTI AXIS
E— E— — —
— I E—
é — N —
/1
[— [E— TWISTHANDLE
1 £ N
O STANDARD O FULL TRAVEL 0 CENTER TO END
BI-DIRECTIONAL UNI-DIRECTIONAL UNI-DIRECTIONAL
4) SWITCH SPECIFICATIONS
O LEFT HAND MOUNTING O RIGHT HAND MOUNTING
VOLTAGE AC/IDC CURRENT AMPS. VOLTAGE AC/DC CURRENT AMPS.
DIRECTION 1&2 DIRECTION 3&4 DIRECTION 5&6 DIRECTION 7&8
NUMBER OF CONTACTS NUMBER OF CONTACTS NUMBER OF CONTACTS NUMBER OF CONTACTS
STEPLESS OR STEPS STEPLESS OR STEPS STEPLESS OR STEPS STEPLESS OR STEPS
O SPRING RETURN O SPRING RETURN O SPRING RETURN O SPRING RETURN
O FRICTION BRAKE O FRICTION BRAKE O FRICTION BRAKE O FRICTION BRAKE
O POTENTIOMETER O POTENTIOMETER O POTENTIOMETER O POTENTIOMETER
O ELECTRONICS O ELECTRONICS O ELECTRONICS O ELECTRONICS
5) ELECTRONICS
A) VALVE SPECIFICATIONS
VALVE MANUFACTURE MODEL NUMBER
SUPPLY VOLTS: VDC COIL RESISTANCE: OHMS THRESHOLD: mA  MAX. OUTPUT mA
OSINGLE COIL  ODUAL COIL  0FLOW CONTROL 0 SWITCHES FOR DIRECTIONAL VALVES ~ PWM FREQUENCY: Hz
B) SIGNAL OUTPUTS
SUPPLY VOLTS: VDC 04-20mA  00-20mA 00-10V O-10Vto+10V o OTHER
C) OPTIONS FOR BOTH
O SINGLE MAX. (AADJ.) 0 DUAL MAX.(A&BADJ.) O DUAL RANGE mA O RAMP TIME SEC.

6) HANDLE TYPE
O STANDARD KNOB O MECHANICAL INTERLOCK 0O PUSHBUTTON DEADMAN 0O PUSH DEADMAN 0O PULL DEADMAN

0 PALM HANDLE
7) NAMEPLATE SPECIFICATIONS

0 STANDARD NAMEPLATE 0O SPECIAL NAMEPLATE (ATTACH LAYOUT DRAWING OR SPECIFICATIONS)

8) ENCLOSURE

O GENERAL PURPOSE O WEATHERPROOF 0O CORROSIVE RESISTANT (PLASTIC) O PORTABLE CONSOLES
ENCLOSURE DIMENSIONS L= W= H= oTS1 OTS2

9) NOTES

225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3 | fax Go5) sotc60s




SENETT V20 MULTI AXIS VER.3

CONTROL

CO. LTD. MASTER SWITCH 1.13.1

THE V20 IS A MINIATURE, LIGHT DUTY MASTER SWITCH
DESIGNED FOR RADIO AND PORTABLE CONTROLS.

IT IS SMALL, LIGHTWEIGHT AND SOLID IN DESIGN.

IT IS BUILT FOR 3 MILLION OPERATIONS.

IT IS OIL, OZONE, UV AND SALT ATMOSPHERE

(OCEAN CONDITION) RESISTANT.

DEGREE OF PROTECTION FRONT: IP65

47 PRINTED CIRCUIT BOARD
WITH SOLDER OR PLUG
TERMINALS.

PANEL CUT OUT

TEL: (905) 564-0167

225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3 [ i0 2 20 e




ATINO HLVD ODNIHO.LIMS
TVIDEAS NI IV

S

qaads 1
aydads e
ayiads €
aydads v T

VER 3
PAGE 1.13.2.1
<+

HOLIMS HdAL NHJO—-O
“"TONH JO0ddIHTHLVIM—M
"TONH HS0ddNnd TVYINID—D

gl LYVHD NI IV
® 12l HLVIdINVN TVIOHdS—O0
LIAHS qIYINdIY LON JI—X
ALVIJHNVN QIVANVIS—N-T

¢—¢ DHUN—¢c—¢c
1-2 DHN—-T-2
¥—€ 4Id "g4v LOVINOD

¢—¢ DHUN—-2S—¢
1-2 DHN—-T-2
c—1 4Id '¥ygv .LOVINOD

ALVD ONIHOLIMS TVIOHdS—¥
O €7 ALVD DNIHOLIMS—E
+ 27 JALVD ONIHOLIMS—2
I T# HLVD ONIHOLIMS-T

Ol ©6

HOLIMS MAISVIW JISVE 02A .mom@

@
+—@
Q
(3107

3
Hmmmﬁbh

®
——®

-®
e ©
—®

viElS|TO[T]e[e[¥
a

S [7]
€]
2]
1]
14 €110
I
2
€]
i

©)

[

@

i

JadNNr

@
O
&

JOB #

GESSMANN
V20 MASTER SWITCH

FROM:

DATE:

NAME:

££99-%9G (S06) XVd L9T0—-%9S (S08) ANOHJ €12 ILST ‘OIMVINO ‘VONVSSISSIN "dATd TVIINAV S22

‘dlT '00 'TOYLNOD LLINHS




ATINO HLVD ODNIHO.LIMS
TVIDEAS NI IV

o2
o g @
™
. —®
IAp) o} _ _
3] 4 € | |
m M aQEdds 1 a
>~ L @ddds 2
qadds €
aaads v 1
€)
Hmmsz

HOLIMS HdAL NHJO—-O
“"TONH JO0ddIHTHLVIM—M
"TONH HS0ddNnd TVYINID—D

gl LYVHD NI IV
® 12l HLVIdINVN TVIOHdS—O0
LIAHS qIYINdIY LON JI—X
ALVIJHNVN QIVANVIS—N-T

IPSI

(o

@
JOB #

¢—¢ DHUN—¢c—¢c
1-2 DHN—-T-2
¥—€ 4Id "g4v LOVINOD

VIEG[TO[T[SE]¥

¢—¢ DHUN—-2S—¢
1-2 DHN—-T-2
c—1 4Id '¥ygv .LOVINOD

0 Telele T 17

|
JadNNr

ALVD ONIHOLIMS TVIOHdS—¥
O €7 ALVD DNIHOLIMS—E
+ 27 JALVD ONIHOLIMS—2
I T# HLVD ONIHOLIMS-T

OFE ©6

FROM:

HOLIMS MAISVIW JISVE 02A .mom@

GESSMANN
V20 MASTER SWITCH

<
™
(2o o]~ od]eo] o]

@
O
&

DATE:
NAME:

££99—%9G (S06) XVd 29T0-%9S (G06) ANOHd €12 1GT ‘OINVINO ‘VDAVSSISSIA "GATH TVAINAY S22 (LT "0D TOMINOD LLANHES




SENETT
% CONTROL V20 PARTS LIST VER3
CO. LTD. g

14

TEL: (905) 564-0167

225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3 [ i002) 20




SENETT
CONTROL V20 PARTS LIST VER.3

CO. LTD. 1.13.5

PART# | DESCRIPTION

1 CASTING

2 STANDARD SHAFT ASSEMBLY WITH BEARING
3 BEARING

4 BEARING CONTAINER

5 DUO TOP-TITE SCREW M3x7

6 1st MOTION BRACKET DIRECTION 1-2

7 PLASTIC BUSHING

8 2nd MOTION BRACKET DIRECTION 3-4

9 1st & 2nd MOTION BRACKET HOLDER

10 SWITCHING GATE HOUSING

11 DUO TOP-TITE SCREW M3x5

12 PLASTIC BUSHING FOR RETURN SPRING
13 RETURN SPRING

14 KNOB

15 RUBBER BOOT

16 4 STEP RATCHET

17 RATCHET ARM

18 RATCHET ARM SPRING

19 RATCHET BALL

21 WIPER

22.1 ENCODER MEC 2-1 c/w MALE CONNECTOR & 0.5m OF WIRE
22.2 ENCODER MEC 2-2 c/w MALE CONNECTOR & 0.5m OF WIRE
23 RUBBER GASKET
24 CHEESE HEAD SCREW M3x12
25.1 SWITCHING GATES #1 SEE PAGE 1.13.3
252 SWITCHING GATES #2 SEE PAGE 1.13.2
253 SWITCHING GATES #3 SEE PAGE 1.13.2
26 EJOT-PT SCREW
28 M3 FLAT WASHER NYLON

TEL: (905) 564-0167

225 ADMIRAL BLVD. MISSISSAUGA, ONTARIO. L5T 2T3 " 2o e




	Switch Ordering Guide
	1.13.1 V20 Drawing
	1.13.2.1 V20 Target Chart Mec 2-1
	1.13.2.2 V20 Target Chart Mec 2-2
	1.13.4 V20 Parts Identification
	1.13.5 V20 Parts List



